

The Structure of η -Intuitionistic Fuzzy Quotient Rings

Syafitri Hidayahningrum¹, Noor Hidayat², Marjono³

^{1,2,3}(Department of Mathematics, University of Brawijaya, Indonesia)

Abstract: In this paper, we present the structure of η -intuitionistic fuzzy quotient rings which is built from the concept of η -intuitionistic fuzzy quotient sets and η -intuitionistic fuzzy ideals. The η -intuitionistic fuzzy quotient sets is built based on sum and product operation in cosets. As a result, an η -intuitionistic fuzzy set A of \mathbb{Z}_6 was obtained as an η -intuitionistic fuzzy quotient ring.

Key Word: η -intuitionistic fuzzy set; η -intuitionistic fuzzy ideals; η -intuitionistic fuzzy quotient sets; η -intuitionistic fuzzy quotient rings.

Date of Submission: 10-12-2022

Date of Acceptance: 24-12-2022

I. INTRODUCTION

The development of a set associated with the degree of membership was first introduced where the degree of membership of an element is expressed as a number in closed intervals 0 and 1 [1]. That theory is developed to the concept of fuzzy sets prompted various studies on modern algebra. One of them is the theory of fuzzy and anti-fuzzy ring theory was built with operators along with ideal properties and fuzzy homomorphism [2]. The characteristics of an intuitionistic fuzzy subring from an intuitionistic fuzzy ring are introduced and an intuitionistic fuzzy ring equipped with an operator [3][4]. Further, the intuitionistic fuzzy ideal in ring concept is built from the intuitionistic fuzzy subring in a commutative ring and intuitionistic fuzzy ideal and prime ideal in a ring [5][6]. Moreover, several types of ideal algebra are given, including $(\in, \in \vee q)$ -intuitionistic fuzzy ideals of BG -algebra, intuitionistic fuzzy ideal of BCK/BCL -algebras, and its anti-intuitionistic fuzzy soft ideal [7][8][9].

In this paper, it is devoted to the development of the structure of η -intuitionistic fuzzy sets and η -intuitionistic fuzzy subgroups [10] into a new structure of the η -intuitionistic fuzzy quotient sets and η -intuitionistic fuzzy quotient rings.

II. PRELIMINARIES

In this section, we consider that theories of the intuitionistic fuzzy quotient ring to build the concept of η -intuitionistic fuzzy quotient ring.

Definition 2.1 [11]: Let R is a ring. An intuitionistic fuzzy set (IFS) $A = \{(x, \mu_A(x), \nu_A(x)) \mid x \in R\}$ is called intuitionistic fuzzy ring (IFR) of R if it satisfies the following conditions:

1. $\mu_A(x + y) \geq \min(\mu_A(x), \mu_A(y))$
 2. $\mu_A(xy) \geq \min(\mu_A(x), \mu_A(y))$
 3. $\mu_A(x^{-1}) \geq \mu_A(x)$
 4. $\nu_A(x + y) \leq \max(\nu_A(x), \nu_A(y))$
 5. $\nu_A(xy) \leq \max(\nu_A(x), \nu_A(y))$
 6. $\nu_A(x^{-1}) \leq \nu_A(x)$
- for all $x, y \in R$.

Definition 2.2 [12]: Let R is a ring. An IFS A over R is called intuitionistic fuzzy ideal (IFI) of R if it satisfies the following conditions:

1. $\mu_A(x - y) \geq \min(\mu_A(x), \mu_A(y))$
 2. $\mu_A(xy) \geq \max(\mu_A(x), \mu_A(y))$
 3. $\nu_A(x - y) \leq \max(\nu_A(x), \nu_A(y))$
 4. $\nu_A(xy) \leq \min(\nu_A(x), \nu_A(y))$
- for all $x, y \in R$.

Definition 2.3 [12]: Let X is an empty set and A is IFI over X . An intuitionistic fuzzy quotient set (IFQS) X of A is defined as

$$\hat{X}/A = \{(x + A, \hat{\mu}_A(x + A), \hat{\nu}_A(x + A)) \mid x \in X\}$$

where

$$\hat{\mu}_A(x + A) = \sup_{a \in A} (\mu_A(x + a))$$

and

$$\hat{\nu}_A(x + A) = \inf_{a \in A} (\nu_A(x + a))$$

for every $x \in X$ and $a \in A$.

Definition 2.4 [12]: Let X is an empty set and A is IFI. Let \hat{X}/A is a IFQS over A . The sum operation at IFQS \hat{X}/A is defined as

$$\begin{aligned} & ((x + A), \hat{\mu}_A(x + A), \hat{\nu}_A(x + A)) \oplus ((y + A), \hat{\mu}_A(y + A), \hat{\nu}_A(y + A)) \\ & = (((x + y) + A), \hat{\mu}_A((x + y) + A), \hat{\nu}_A((x + y) + A)) \end{aligned}$$

where

$$\hat{\mu}_A((x + y) + A) = \sup_{a \in A} (\mu_A((x + y) + a))$$

and

$$\hat{\nu}_A((x + y) + A) = \inf_{a \in A} (\nu_A((x + y) + a)).$$

Definition 2.5 [12]: Let X is an empty set and A is IFI. Let \hat{X}/A is a IFQS over A . The product operation at IFQS \hat{X}/A is defined as

$$\begin{aligned} & ((x + A), \hat{\mu}_A(x + A), \hat{\nu}_A(x + A)) \otimes ((y + A), \hat{\mu}_A(y + A), \hat{\nu}_A(y + A)) \\ & = (((xy) + A), \hat{\mu}_A((xy) + A), \hat{\nu}_A((xy) + A)) \end{aligned}$$

where

$$\hat{\mu}_A((xy) + A) = \sup_{a \in A} (\mu_A((xy) + a))$$

and

$$\hat{\nu}_A((xy) + A) = \inf_{a \in A} (\nu_A((xy) + a)).$$

Theorem 2.6: Let R is a ring, A is IFI, and \hat{R}/A is IFQS, then \hat{R}/A is an intuitionistic fuzzy quotient ring (IFQR).

Proof. Based on Definition 2.1, for any $x, y \in R$, we will show that:

1. $\hat{\mu}_A((x + y) + A) \geq \min(\hat{\mu}_A(x + A), \hat{\mu}_A(y + A))$
2. $\hat{\mu}_A((xy) + A) \geq \min(\hat{\mu}_A(x + A), \hat{\mu}_A(y + A))$
3. $\hat{\mu}_A(-x + A) \geq \hat{\mu}_A(x + A)$
4. $\hat{\nu}_A((x + y) + A) \leq \max(\hat{\nu}_A(x + A), \hat{\nu}_A(y + A))$
5. $\hat{\nu}_A((xy) + A) \leq \max(\hat{\nu}_A(x + A), \hat{\nu}_A(y + A))$
6. $\hat{\nu}_A(-x + A) \leq \hat{\nu}_A(x + A)$.

Thus, we have:

1.
$$\begin{aligned} \hat{\mu}_A((x + y) + A) &= \sup_{a \in A} (\mu_A((x + y) + a)) \\ &\geq \sup_{a \in A} (\min(\mu_A(x + y), \mu_A(a))) \\ &\geq \sup_{a \in A} (\min(\min(\mu_A(x), \mu_A(y)), \mu_A(a))) \\ &= \min\left(\sup_{a \in A} (\min(\mu_A(x), \mu_A(a))), \sup_{a \in A} (\min(\mu_A(y), \mu_A(a)))\right) \\ &= \min\left(\sup_{a \in A} (\mu_A(x + a)), \sup_{a \in A} (\mu_A(y + a))\right) \\ &= \min(\hat{\mu}_A(x + A), \hat{\mu}_A(y + A)) \end{aligned}$$
2.
$$\begin{aligned} \hat{\mu}_A((xy) + A) &= \sup_{a \in A} (\mu_A((xy) + a)) \\ &\geq \sup_{a \in A} (\min(\mu_A(xy), \mu_A(a))) \\ &\geq \sup_{a \in A} (\min(\min(\mu_A(x), \mu_A(y)), \mu_A(a))) \end{aligned}$$

$$\begin{aligned}
 &= \min \left(\sup_{a \in A} (\min(\mu_A(x), \mu_A(a))), \sup_{a \in A} (\min(\mu_A(y), \mu_A(a))) \right) \\
 &= \min \left(\sup_{a \in A} (\mu_A(x + a)), \sup_{a \in A} (\mu_A(y + a)) \right) \\
 &= \min(\hat{\mu}_A(x + A), \hat{\mu}_A(y + A)) \\
 3. \quad \hat{\mu}_A(-x + A) &= \sup_{a \in A} (\mu_A((-x) + a)) \\
 &\geq \sup_{a \in A} (\mu_A(x + a)) \\
 &= \hat{\mu}_A(x + A) \\
 4. \quad \hat{\nu}_A((x + y) + A) &= \inf_{a \in A} (\nu_A((x + y) + a)) \\
 &\leq \inf_{a \in A} (\max(\nu_A(x + y), \nu_A(a))) \\
 &\leq \inf_{a \in A} (\max(\max(\nu_A(x), \nu_A(y)), \nu_A(a))) \\
 &= \max \left(\inf_{a \in A} (\max(\nu_A(x), \nu_A(a))), \inf_{a \in A} (\max(\nu_A(y), \nu_A(a))) \right) \\
 &= \max \left(\inf_{a \in A} (\nu_A(x + a)), \inf_{a \in A} (\nu_A(y + a)) \right) \\
 &= \max(\hat{\nu}_A(x + A), \hat{\nu}_A(y + A)) \\
 5. \quad \hat{\nu}_A((xy) + A) &= \inf_{a \in A} (\nu_A((xy) + a)) \\
 &\leq \inf_{a \in A} (\max(\nu_A(xy), \nu_A(a))) \\
 &\leq \inf_{a \in A} (\max(\max(\nu_A(x), \nu_A(y)), \nu_A(a))) \\
 &= \max \left(\inf_{a \in A} (\max(\nu_A(x), \nu_A(a))), \inf_{a \in A} (\max(\nu_A(y), \nu_A(a))) \right) \\
 &= \max \left(\inf_{a \in A} (\nu_A(x + a)), \inf_{a \in A} (\nu_A(y + a)) \right) \\
 &= \max(\hat{\nu}_A(x + A), \hat{\nu}_A(y + A)) \\
 6. \quad \hat{\nu}_A(-x + A) &= \inf_{a \in A} (\nu_A((-x) + a)) \\
 &\leq \inf_{a \in A} (\nu_A(x + a)) \\
 &= \hat{\nu}_A(x + A)
 \end{aligned}$$

Then, \hat{R}/A is an IFQR is proved.

Definition 2.7 [10]: Let $A = \{(x, \mu_A(x), \nu_A(x)) \mid x \in X\}$ and $B = \{(x, \mu_B(x), \nu_B(x)) \mid x \in X\}$ are IFS's of X . The averaging operator of IFS's A and B over X , denoted by $A\$B$, is defined as

$$A\$B = \left\{ \left(x, \sqrt{\mu_A(x) \cdot \mu_B(x)}, \sqrt{\nu_A(x) \cdot \nu_B(x)} \right) \mid x \in X \right\}$$

which is $\sqrt{\mu_A(x) \cdot \mu_B(x)}$ will be denoted by $\Phi(\mu_A(x), \mu_B(x))$ and $\sqrt{\nu_A(x) \cdot \nu_B(x)}$ will be denoted by $\Phi'(\nu_A(x), \nu_B(x))$ on the next discussion.

Definition 2.8 [10]: Let X is an empty set. Let A is an IFS over X , and $\eta \in [0,1]$. An IFS $A^\eta = \{(x, \mu_{A^\eta}(x), \nu_{A^\eta}(x)) \mid x \in X\}$ which is

1. $\mu_{A^\eta}(x) = \Phi(\mu_A(x), \eta)$
2. $\nu_{A^\eta}(x) = \Phi'(\nu_A(x), 1 - \eta)$

is called η -intuitionistic fuzzy set (η -IFS) for every $x \in X$.

III. RESULT AND DISCUSSION

In this section will be discussed the definitions and theorems of η -intuitionistic fuzzy quotient sets and η -intuitionistic fuzzy quotient ring based on sum and product operation in cosets.

Definition 3.1: Let R is a ring. An η -intuitionistic fuzzy set (η -IFS) $A^\eta = \{(x, \mu_{A^\eta}(x), \nu_{A^\eta}(x)) \mid x \in R\}$ is called η -intuitionistic fuzzy ring (η -IFR) of R if it satisfies the following conditions:

1. $\mu_{A^\eta}(x + y) \geq \min(\mu_{A^\eta}(x), \mu_{A^\eta}(y))$
2. $\mu_{A^\eta}(xy) \geq \min(\mu_{A^\eta}(x), \mu_{A^\eta}(y))$
3. $\mu_{A^\eta}(x^{-1}) \geq \mu_{A^\eta}(x)$
4. $\nu_{A^\eta}(x + y) \leq \max(\nu_{A^\eta}(x), \nu_{A^\eta}(y))$
5. $\nu_{A^\eta}(xy) \leq \max(\nu_{A^\eta}(x), \nu_{A^\eta}(y))$
6. $\nu_{A^\eta}(x^{-1}) \leq \nu_{A^\eta}(x)$

for all $x, y \in R$.

Definition 3.2: Let R is a ring. An η -IFS A^η over R is called η -intuitionistic fuzzy ideal (η -IFI) of R if it satisfies the following conditions:

1. $\mu_{A^\eta}(x - y) \geq \min(\mu_{A^\eta}(x), \mu_{A^\eta}(y))$
2. $\mu_{A^\eta}(xy) \geq \max(\mu_{A^\eta}(x), \mu_{A^\eta}(y))$
3. $\nu_{A^\eta}(x - y) \leq \max(\nu_{A^\eta}(x), \nu_{A^\eta}(y))$
4. $\nu_{A^\eta}(xy) \leq \min(\nu_{A^\eta}(x), \nu_{A^\eta}(y))$

for all $x, y \in R$.

Definition 3.3: Let X is an empty set and A^η is η -IFI over X . An η -intuitionistic fuzzy quotient set (η -IFQS) X of A^η is defined as

$$\hat{X}/A^\eta = \{(x + A^\eta, \hat{\mu}_{A^\eta}(x + A^\eta), \hat{\nu}_{A^\eta}(x + A^\eta)) \mid x \in X\}$$

where

$$\hat{\mu}_{A^\eta}(x + A^\eta) = \sup_{a \in A^\eta} (\mu_{A^\eta}(x + a))$$

and

$$\hat{\nu}_{A^\eta}(x + A^\eta) = \inf_{a \in A^\eta} (\nu_{A^\eta}(x + a))$$

for every $x \in X$ and $a \in A^\eta$.

Definition 3.4: Let X is an empty set and A^η is η -IFI. Let \hat{X}/A^η is a η -IFQS over A^η . The sum operation at η -IFQS \hat{R}/A^η is defined as

$$\begin{aligned} & ((x + A^\eta), \hat{\mu}_{A^\eta}(x + A^\eta), \hat{\nu}_{A^\eta}(x + A^\eta)) \oplus ((y + A^\eta), \hat{\mu}_{A^\eta}(y + A^\eta), \hat{\nu}_{A^\eta}(y + A^\eta)) \\ &= (((x + y) + A^\eta), \hat{\mu}_{A^\eta}((x + y) + A^\eta), \hat{\nu}_{A^\eta}((x + y) + A^\eta)) \end{aligned}$$

where

$$\hat{\mu}_{A^\eta}((x + y) + A^\eta) = \sup_{a \in A^\eta} (\mu_{A^\eta}((x + y) + a))$$

and

$$\hat{\nu}_{A^\eta}((x + y) + A^\eta) = \inf_{a \in A^\eta} (\nu_{A^\eta}((x + y) + a)).$$

Definition 3.5: Let X is an empty set and A^η is η -IFI. Let \hat{X}/A^η is a η -IFQS over A^η . The product operation at η -IFQS \hat{X}/A^η is defined as

$$\begin{aligned} & ((x + A^\eta), \hat{\mu}_{A^\eta}(x + A^\eta), \hat{\nu}_{A^\eta}(x + A^\eta)) \otimes ((y + A^\eta), \hat{\mu}_{A^\eta}(y + A^\eta), \hat{\nu}_{A^\eta}(y + A^\eta)) \\ &= (((xy) + A^\eta), \hat{\mu}_{A^\eta}((xy) + A^\eta), \hat{\nu}_{A^\eta}((xy) + A^\eta)) \end{aligned}$$

where

$$\hat{\mu}_{A^\eta}((xy) + A^\eta) = \sup_{a \in A^\eta} (\mu_{A^\eta}((xy) + a))$$

and

$$\hat{\nu}_{A^\eta}((xy) + A^\eta) = \inf_{a \in A^\eta} (\nu_{A^\eta}((xy) + a)).$$

Theorem 3.6: Let R is a ring, A^η is η -IFI, and \hat{R}/A^η is η -IFQS, then \hat{R}/A^η is an η -intuitionistic fuzzy quotient ring (η -IFQR).

Proof. Based on Definition 3.1, for any $x, y \in R$, we will show that:

1. $\hat{\mu}_{A^\eta}((x + y) + A^\eta) \geq \min(\hat{\mu}_{A^\eta}(x + A^\eta), \hat{\mu}_{A^\eta}(y + A^\eta))$
2. $\hat{\mu}_{A^\eta}((xy) + A^\eta) \geq \min(\hat{\mu}_{A^\eta}(x + A^\eta), \hat{\mu}_{A^\eta}(y + A^\eta))$
3. $\hat{\mu}_{A^\eta}(-x + A^\eta) \geq \hat{\mu}_{A^\eta}(x + A^\eta)$
4. $\hat{\nu}_{A^\eta}((x + y) + A^\eta) \leq \max(\hat{\nu}_{A^\eta}(x + A^\eta), \hat{\nu}_{A^\eta}(y + A^\eta))$
5. $\hat{\nu}_{A^\eta}((xy) + A^\eta) \leq \max(\hat{\nu}_{A^\eta}(x + A^\eta), \hat{\nu}_{A^\eta}(y + A^\eta))$
6. $\hat{\nu}_{A^\eta}(-x + A^\eta) \leq \hat{\nu}_{A^\eta}(x + A^\eta)$.

Thus, we have:

1.
$$\begin{aligned} \hat{\mu}_{A^\eta}((x + y) + A^\eta) &= \sup_{a \in A^\eta} (\mu_{A^\eta}((x + y) + a)) \\ &= \sup_{a \in A^\eta} (\psi(\mu_A((x + y) + a), \eta)) \\ &= \sup_{a \in A^\eta} (\min(\psi(\mu_A(x + y), \eta), \psi(\mu_A(a), \eta))) \end{aligned}$$

$$\begin{aligned} &\geq \sup_{a \in A^\eta} \left(\min \left(\min(\psi(\mu_A(x), \eta), \psi(\mu_A(y), \eta)), \psi(\mu_A(a), \eta)) \right) \right) \\ &= \sup_{a \in A^\eta} \left(\min \left(\min(\psi(\mu_A(x), \eta), \psi(\mu_A(a), \eta)), \right. \right. \\ &\quad \left. \left. \min(\psi(\mu_A(y), \eta), \psi(\mu_A(a), \eta)) \right) \right) \\ &= \sup_{a \in A^\eta} (\min(\psi(\mu_A(x+a), \eta), \psi(\mu_A(y+a), \eta))) \\ &= \min \left(\sup_{a \in A^\eta} (\psi(\mu_A(x+a), \eta)), \sup_{a \in A^\eta} (\psi(\mu_A(y+a), \eta)) \right) \\ &= \min \left(\sup_{a \in A^\eta} (\mu_{A^\eta}(x+a)), \sup_{a \in A^\eta} (\mu_{A^\eta}(y+a)) \right) \\ &= \min(\hat{\mu}_{A^\eta}(x+A^\eta), \hat{\mu}_{A^\eta}(y+A^\eta)) \end{aligned}$$

$$\begin{aligned} 2. \hat{\mu}_{A^\eta}((xy) + A^\eta) &= \sup_{a \in A^\eta} (\mu_{A^\eta}((xy) + a)) \\ &= \sup_{a \in A^\eta} (\psi(\mu_A((xy) + a), \eta)) \\ &= \sup_{a \in A^\eta} (\min(\psi(\mu_A(xy), \eta), \psi(\mu_A(a), \eta))) \\ &\geq \sup_{a \in A^\eta} \left(\min \left(\min(\psi(\mu_A(x), \eta), \psi(\mu_A(y), \eta)), \psi(\mu_A(a), \eta) \right) \right) \\ &= \sup_{a \in A^\eta} \left(\min \left(\min(\psi(\mu_A(x), \eta), \psi(\mu_A(a), \eta)), \right. \right. \\ &\quad \left. \left. \min(\psi(\mu_A(y), \eta), \psi(\mu_A(a), \eta)) \right) \right) \\ &= \sup_{a \in A^\eta} (\min(\psi(\mu_A(x+a), \eta), \psi(\mu_A(y+a), \eta))) \\ &= \min \left(\sup_{a \in A^\eta} (\psi(\mu_A(x+a), \eta)), \sup_{a \in A^\eta} (\psi(\mu_A(y+a), \eta)) \right) \\ &= \min \left(\sup_{a \in A^\eta} (\mu_{A^\eta}(x+a)), \sup_{a \in A^\eta} (\mu_{A^\eta}(y+a)) \right) \\ &= \min(\hat{\mu}_{A^\eta}(x+A^\eta), \hat{\mu}_{A^\eta}(y+A^\eta)) \end{aligned}$$

$$\begin{aligned} 3. \hat{\mu}_{A^\eta}(-x + A^\eta) &= \sup_{a \in A^\eta} (\mu_{A^\eta}(-x + a)) \\ &= \sup_{a \in A^\eta} (\psi(\mu_A(-x + a), \eta)) \\ &\geq \sup_{a \in A^\eta} (\min(\psi(\mu_A(-x), \eta), \psi(\mu_A(a), \eta))) \\ &= \sup_{a \in A^\eta} (\min(\psi(\mu_A(x), \eta), \psi(\mu_A(a), \eta))) \\ &= \sup_{a \in A^\eta} (\psi(\mu_A(x+a), \eta)) \\ &= \sup_{a \in A^\eta} (\mu_{A^\eta}(-x + a)) \\ &= \hat{\mu}_{A^\eta}(x + A^\eta) \end{aligned}$$

$$\begin{aligned} 4. \hat{\nu}_{A^\eta}((x+y) + A^\eta) &= \inf_{a \in A^\eta} (\nu_{A^\eta}((x+y) + a)) \\ &= \inf_{a \in A^\eta} (\psi'(\nu_A((x+y) + a), 1 - \eta)) \\ &= \inf_{a \in A^\eta} (\max(\psi'(\nu_A(x+y), 1 - \eta), \psi'(\nu_A(a), 1 - \eta))) \\ &\leq \inf_{a \in A^\eta} \left(\max \left(\max(\psi'(\nu_A(x), 1 - \eta), \right. \right. \\ &\quad \left. \left. \psi'(\nu_A(y), 1 - \eta) \right), \psi'(\nu_A(a), 1 - \eta) \right) \right) \\ &= \inf_{a \in A^\eta} \left(\max \left(\max(\psi'(\nu_A(x), 1 - \eta), \psi'(\nu_A(a), 1 - \eta)), \right. \right. \\ &\quad \left. \left. \max(\psi'(\nu_A(y), 1 - \eta), \psi'(\nu_A(a), 1 - \eta)) \right) \right) \\ &= \inf_{a \in A^\eta} (\max(\psi'(\nu_A(x+a), 1 - \eta), \psi'(\nu_A(y+a), 1 - \eta))) \\ &= \max \left(\inf_{a \in A^\eta} (\psi'(\nu_A(x+a), 1 - \eta)), \inf_{a \in A^\eta} (\psi'(\nu_A(y+a), 1 - \eta)) \right) \\ &= \max \left(\inf_{a \in A^\eta} (\nu_{A^\eta}(x+a)), \inf_{a \in A^\eta} (\nu_{A^\eta}(y+a)) \right) \\ &= \max(\hat{\nu}_{A^\eta}(x+A^\eta), \hat{\nu}_{A^\eta}(y+A^\eta)) \end{aligned}$$

$$\begin{aligned} 5. \hat{\nu}_{A^\eta}((xy) + A^\eta) &= \inf_{a \in A^\eta} (\nu_{A^\eta}((xy) + a)) \\ &= \inf_{a \in A^\eta} (\psi'(\nu_A((xy) + a), 1 - \eta)) \\ &= \inf_{a \in A^\eta} (\max(\psi'(\nu_A(xy), 1 - \eta), \psi'(\nu_A(a), 1 - \eta))) \\ &\leq \inf_{a \in A^\eta} \left(\max \left(\max(\psi'(\nu_A(x), 1 - \eta), \right. \right. \\ &\quad \left. \left. \psi'(\nu_A(y), 1 - \eta) \right), \psi'(\nu_A(a), 1 - \eta) \right) \right) \end{aligned}$$

$$\begin{aligned}
 &= \inf_{a \in A^\eta} \left(\max \left(\max(\psi'(v_A(x), 1 - \eta), \psi'(v_A(a), 1 - \eta)), \right. \right. \\
 &\quad \left. \left. \max(\psi'(v_A(y), 1 - \eta), \psi'(v_A(a), 1 - \eta)) \right) \right) \\
 &= \inf_{a \in A^\eta} \left(\max(\psi'(v_A(x + a), 1 - \eta), \psi'(v_A(y + a), 1 - \eta)) \right) \\
 &= \max \left(\inf_{a \in A^\eta} (\psi'(v_A(x + a), 1 - \eta)), \inf_{a \in A^\eta} (\psi'(v_A(y + a), 1 - \eta)) \right) \\
 &= \max \left(\inf_{a \in A^\eta} (v_{A^\eta}(x + a)), \inf_{a \in A^\eta} (v_{A^\eta}(y + a)) \right) \\
 &= \max(\hat{v}_{A^\eta}(x + A^\eta), \hat{v}_{A^\eta}(y + A^\eta))
 \end{aligned}$$

$$\begin{aligned}
 6. \hat{v}_{A^\eta}(-x + A^\eta) &= \inf_{a \in A^\eta} (v_{A^\eta}(-x + a)) \\
 &= \inf_{a \in A^\eta} (\psi'(v_A(-x + a), 1 - \eta)) \\
 &\leq \inf_{a \in A^\eta} (\max(\psi'(v_A(-x), 1 - \eta), \psi'(v_A(a), 1 - \eta))) \\
 &= \inf_{a \in A^\eta} (\max(\psi'(v_A(x), 1 - \eta), \psi'(v_A(a), 1 - \eta))) \\
 &= \inf_{a \in A^\eta} (\psi'(v_A(x + a), 1 - \eta)) \\
 &= \inf_{a \in A^\eta} (v_{A^\eta}(-x + a)) \\
 &= \hat{v}_{A^\eta}(x + A^\eta)
 \end{aligned}$$

Then, \hat{R}/A^η is an η -IFQR is proved.

Example 3.7: Let \mathbb{Z}_6 is a ring. Defined $\mu_A : \mathbb{Z}_6 \rightarrow [0,1]$ and $v_A : \mathbb{Z}_6 \rightarrow [0,1]$, which is

$$\mu_A(x) = \begin{cases} 0,23 & , x = \bar{1}, \bar{2}, \bar{4}, \bar{5} \\ 0,40 & , x = \bar{0}, \bar{3} \end{cases} \quad \text{and} \quad v_A(x) = \begin{cases} 0,77 & , x = \bar{1}, \bar{2}, \bar{4}, \bar{5} \\ 0,25 & , x = \bar{0}, \bar{3} \end{cases}$$

Let $\eta = 0,65$, thus $1 - \eta = 0,35$. We refer to the averaging operation in Definition 2.7, we have $\mu_{A^\eta}(x) = 0,39$ and $v_{A^\eta}(x) = 0,52$ for $x = \{\bar{1}, \bar{2}, \bar{4}, \bar{5}\}$, while $\mu_{A^\eta}(x) = 0,51$ and $v_{A^\eta}(x) = 0,30$ for $x = \{\bar{0}, \bar{3}\}$. It can be shown that η -IFQR based on the following description:

- Let any $x = \bar{1}, y = \bar{3}$, and $a = \{\bar{0}, \bar{1}, \bar{2}, \bar{3}, \bar{4}, \bar{5}\}$. We have, $\mu_{A^\eta}(\bar{1} + a) = \{0,39, 0,39, 0,51, 0,39, 0,39, 0,51\}$, $\mu_{A^\eta}(\bar{3} + a) = \{0,51, 0,39, 0,39, 0,51, 0,39, 0,39\}$, and $\mu_{A^\eta}((\bar{1} + \bar{3}) + a) = \{0,39, 0,39, 0,51, 0,39, 0,39, 0,51\}$. Thus, we obtain $\sup_{a \in A^\eta} (\mu_{A^\eta}(\bar{1} + a)) = 0,51$, $\sup_{a \in A^\eta} (\mu_{A^\eta}(\bar{3} + a)) = 0,51$, and $\sup_{a \in A^\eta} (\mu_{A^\eta}((\bar{1} + \bar{3}) + a)) = 0,51$. Hence, $\hat{\mu}_{A^\eta}((\bar{1} + \bar{3}) + A^\eta) \geq \min(\hat{\mu}_{A^\eta}(\bar{1} + A^\eta), \hat{\mu}_{A^\eta}(\bar{3} + A^\eta))$.
- Similarly, we have $\mu_{A^\eta}((\bar{1} \cdot \bar{3}) + a) = \{0,51, 0,39, 0,39, 0,51, 0,39, 0,39\}$. Thus, we obtain $\sup_{a \in A^\eta} (\mu_{A^\eta}(\bar{1} + a)) = 0,51$, $\sup_{a \in A^\eta} (\mu_{A^\eta}(\bar{3} + a)) = 0,51$, and $\sup_{a \in A^\eta} (\mu_{A^\eta}((\bar{1} \cdot \bar{3}) + a)) = 0,51$. Hence, $\hat{\mu}_{A^\eta}((\bar{1} \cdot \bar{3}) + A^\eta) \geq \min(\hat{\mu}_{A^\eta}(\bar{1} + A^\eta), \hat{\mu}_{A^\eta}(\bar{3} + A^\eta))$.
- Let any $x = \bar{1}$, thus $-x = \bar{5}$, and $a = \{\bar{0}, \bar{1}, \bar{2}, \bar{3}, \bar{4}, \bar{5}\}$. We have, $\mu_{A^\eta}(\bar{1} + a) = \{0,39, 0,39, 0,51, 0,39, 0,39, 0,51\}$ and $\mu_{A^\eta}(\bar{5} + a) = \{0,39, 0,51, 0,39, 0,39, 0,51, 0,39\}$. Thus, we obtain $\sup_{a \in A^\eta} (\mu_{A^\eta}(\bar{1} + a)) = 0,51$ and $\sup_{a \in A^\eta} (\mu_{A^\eta}(\bar{5} + a)) = 0,51$. Hence, $\hat{\mu}_{A^\eta}(\bar{5} + A^\eta) \geq \hat{\mu}_{A^\eta}(\bar{1} + A^\eta)$.

To show the other axioms of the degree of non membership can use the same method as above.

Then, that can be proved that $\hat{R}/A^\eta = \{(x + A^\eta, \hat{\mu}_{A^\eta}(x + A^\eta), \hat{v}_{A^\eta}(x + A^\eta)) \mid x \in \mathbb{Z}_6\}$ is an η -IFQR.

IV. CONCLUSION

Based on the result and discussion, a new structure of η -intuitionistic fuzzy quotient set and η -intuitionistic fuzzy quotient ring are obtained with sum and product operator in cosets. On the next research, it is suggested to build a new structure related to homomorphism and isomorphism mapping and its properties in η -intuitionistic fuzzy quotient ring concepts.

REFERENCES

- [1] L. A. Zadeh, "Fuzzy Sets," *Inf. Control*, vol. 8, pp. 338–353, 1965.
- [2] M. Z. Alam, "Fuzzy Rings and Anti Fuzzy Rings With Operators," *IOSR J. Math.*, vol. 11, no. 4, pp. 48–54, 2015, doi: 10.9790/5728-11444854.
- [3] K. Meena, "Characteristic Intuitionistic Fuzzy Subrings of an Intuitionistic Fuzzy Ring," 2017. [Online]. Available: <http://www.ripublication.com>
- [4] M. Yamin and P. K. Sharma, "Intuitionistic Fuzzy Rings with Operators," *Int. J. Math. Comput. Sci.*, vol. 6, 2018, doi: 10.18535/ijmcr/v6i2.01.
- [5] P. Mandal and A. S. Ranadive, "The Rough Intuitionistic Fuzzy Ideals of Intuitionistic Fuzzy Subrings in a Commutative Ring," *Fuzzy Inf. Eng.*, vol. 6, pp. 279–297, Sep. 2014.

- [6] I. Bakhadach, M. Oukessou, S. Melliani, and L. S. Chadli, "Intuitionistic Fuzzy Ideal and Intuitionistic Fuzzy Prime Ideal in a Ring," *Notes Intuitionistic Fuzzy Sets*, vol. 22, no. 2, pp. 59–63, 2016, [Online]. Available: <https://www.researchgate.net/publication/307882292>
- [7] S. R. Barbhuiya, " $(\in, \in \vee q)$ -Intuitionistic Fuzzy Ideals of BG-algebra," *Fuzzy Inf. Eng.*, vol. 7, pp. 31–48, 2015.
- [8] C. Jana and M. Pal, "Generalized Intuitionistic Fuzzy Ideals of BCK/BCI-algebras Based on 3-valued Logic and Its Computational Study," *Fuzzy Inf. Eng.*, vol. 9, pp. 455–478, 2017.
- [9] M. Balamurugan, C. Ragavan, and G. Balasubramanian, "Anti-Intuitionistic Fuzzy Soft Ideals in BCK/BCI-algebras," Tamilnadu, 2019. [Online]. Available: www.sciencedirect.com
- [10] U. Shuaib, H. Alolaiyan, A. Razaq, S. Dilbar, and F. Tahir, "On some algebraic aspects of η -intuitionistic fuzzy subgroups," *J. Taibah Univ. Sci.*, vol. 14, no. 1, pp. 463–469, Jan. 2020, doi: 10.1080/16583655.2020.1745491.
- [11] L. M. Yan, "Intuitionistic fuzzy ring and its homomorphism image," in *Proceedings - 2008 International Seminar on Future BioMedical Information Engineering, FBIE 2008*, 2008, pp. 75–77. doi: 10.1109/FBIE.2008.109.
- [12] D. K. Basnet, "Intuitionistic Fuzzy Subrings and Ideals," in *Topics in Intuitionistic Fuzzy Algebra*, Saarbrücken: Lambert Academic Publishing GmbH & Co. KG, 2019, pp. 7–57.

Syafitri Hidayahningrum. et. al. "The Structure of η -Intuitionistic Fuzzy Quotient Rings." *IOSR Journal of Mathematics (IOSR-JM)*, 18(6), (2022): pp. 01-07.